1084 R 7 AT #iT

EHH HHAE $%H vaRee
§ . WEBEA T NE
BT 2 T, >
BRI KA G sy 1,403.479,718 52.27%
EHEERA R ZTE T S 729,428,369 27.16%
R B A B 4,432,142 0.16%
ESLIE 34 oy S
B8 N L A ;glﬁ o BB 179,045,301 6.67%
g g | JECRAL A A
BRI AT |og, s 271,762,241 10.12%
S S B e B
g SR PR \H 10,878,779 0.41%
FETHZE B FH ST 3,291,043 0.12%
St AT
58
AT o 2,041,588 0.08%
ZHHES) K S SR
HETEE ] FHEEEH - Eair 80,890,069 3.01%
EEH
ozt 2,685,249 250 100.00%




RSB E FH0.12%

W REF0.41%

EEE AR ERER

10.129
Rl e

HEREHFRA0.16%

=

R %52 F0.08%
MEE F3.01%

/

BRI en) A
52.27%




1094 R 7 AT #iT

EHH HHAE $%H vaRee
§ . WEBEA T NE
BETILZC T, >
SRS R | T v 1,464 811,951 51.95%
SRR A SR e s 792.268.718 28.10%
R B A B 1,552,733 0.05%
A T i 4 S
B N RS 4 ;glﬁﬁ&ﬁ%g 164,894 845 5.850
e e | RO 2 A
ERBFR AR | e 284,348,099 10..09%
e S BITETE K
WH5T s e EEEYH NS 14,907,448 0.53%
FETHZE B FH ST 3,502,485 0.12%
OB A BE R AT 52
58
BATSER o 5.949.570 0.21%
ZHHES) K S SR
HEEH EMEEA - EET 87,178,221 3.09%
EEH
ot 2.819.,414 070 100.00%




IR 0.12% | DR H0.21%

IR EE N 0.53%
EHERREBEN
10.09%

HIEEEFI3.09%

HEEBERA 0.05%

BRI R A
51.95%

B#afER4A28.10%




1104E R 7 o #T

EHH HHAE $%H vaRee
§ . WEBEA T NE
BETILZC T, >
SRS R | T v 1.467.238.689 50.19%
EHEERA R ZTE T S 876,527,997 29.98%
R B A B 865,699 0.02%
LA T3 4 o A
B N RS 4 ;glﬁ o BB 155.751.357 5.33%
g 1 g [T 2 AT
EEE R | e 204 425,397 10.07%
e S BITETE K
WH5T s e EEEYH NS 19,850,228 0.68%
FETHZE B FH ST 3,205,357 0.11%
OB A BE R AT 52
58
BATSER o 1,083,985 0.04%
ZHHES) K S SR
HETEE ] FHEEEH - Eair 104,314,635 3.57%
EEH
ot 2,923,263 ,344 100.00%




MREREE BEE B

B WEA o, MRRA

wEmamRawam_ %%

10.07%

N Y
5.33%

ERBEERA
0.03%

L% S
50.19%




108- 1104 BB o #

By : HrEa s

THH 1084EFE || 109 || 1104EfE
HEEWTE e A 140,348||  146.481| 146,724
EBEERA 72,943 79,227 87,653
R A RA 443 155 86
B NG ORENS 17,905 16,489 15,575
BT AR E 27,176 28,435 29,443
W5 as e A 1,088 1,491 1,985
FETESE TS E 329 350 320
HETEE 8,293 9,313 10,540

=51 268,525[ 281,941 292,326




160,000 -

140,000 -

120,000 -

100,000 -

80,000 -

60,000 -

40,000 -

20,000 -

H 1084/ = 1094 1105




